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020 Risa/Asir 000 GCD OOOOO
O

00,00
Risa/Asir 00 0000000000000, 00000000000000000 TCP/IP O
OpenXM 000000D00000D0000O0O00O0DOO0O. 00 CO000D0000O0000
00000000000000.00000 Risa/Ast 0000000,000000000000
0000000 GCDOOODOD0000 Risa/Asir 0000000.

Risa/Asir 100000000000 [4000.

2.1 Knoppix 00 Risa/Asir 0000

Risa/Asir 0000000 KDEODOOOOO|00000000 |»|Math ¢]Asir(openXM)\
O0000. Asr 0000000000000O0 CDOOO0OO0OOO00000O00000000
O0000000000000000. O000 2MOO0O0O0O0O00000000000 100
0000000000000, 00000000000 0000000000000 0 .asir-tmp,
TeXmacs, .asitrc 00 00000. DDDD]knOppix\:»]conﬁgure\;s]DDDDDDDDDD\D
USBO0O000O00O0OCOO0O0000DOOOO0O000OOOOOOn.

[O00]

Oasr 000000 (DOOO0OOD)000. 000 Risa/Asir 0000000000 quit; O
O00O0.00 Asr000000OO0OOOOOOOOODODODODOO.

Asr 000O0O0O00OQOOOO,0000000000. ODOoO0DOOoO0DOoOUODOoOoooOgoogo
go.

Oo3+,-,+,/,-00000000,000,000,00,00.0000,
2% (3+5°4) ;
O0000023+5)000000000.

O 4 sin(x), cos(x) DOOOOUO0OOO. @i 00O0O00ODOOO. sin(z) O cos(z) DO0OO
goagoo

deval(sin(3.14));

OO000D0.deval O 64 bit J0D0O0O0OO0OOOOODOO.

(e

g s
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O Asir 0000000, ;(00000)000000000LOO0000000. 00000 «
o0ooUooo0o0oU0oo0oO0Uoo0. 00000 o000 ¢ (OUO)UOOOOO,0000
0000000. Risa/Asr 000000000000 0O0OO,000000 (,)O000000. [,]
O {,}00000000,00000000000.

[0] ((2+2/3)*4+1/3)+5; @
16
[1] ((2+2/3)*4+1/3)+5$ &
[2]

O 6 plot(£); 0 2000 fO00O0DODOO0x00000DO0O00O0O0DOOOODO
plot(f,[x,0,10]) O0DOCOOOO,x0 000 10000000O.

0
1] plot(sin(x));
0
2] plot(sin(2*x)+0.5%sin(3*x), [x,-10,10]);

0700000000000000 [ctrl[H{c] (CO cancel 0 C)DODODO. OO0
interrupt ?(q/t/c/d/u/w/?)
00000000 [u]€@00000. 00

Abort this computation? (y or n)

00000000 [y]@00000. (g/t/e/d/u/w/) 00000000 ? 00000000000
ooo.

[0] fctr(x~1000-y~1000);
=
interrupt ?(q/t/c/d/u/w/?) u &
Abort this computation? (y orn) y <

return to toplevel

[1]

2.2 Risa/Asir 00000000

AsirO000OOOOOODOD. 0000

[ fctr(x~10-1); ]

000000 z'0-100000000.0000000000000,000000000000
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oboooboob. 0000 x20000,22000000000000000. 2000 20 x*2
gboo.doboooobooooboobo.oboobo koobooooo.
Risa/Asir 000000000000 0OOO. 000000000000 ford0noOQ.

o8

[ for (K=1; K<=5; K=K+1) { print(K); }; ]

OO0O0O0O0OOODO.DO0O0O0000 print(Xx) 0 KOOOOOOOOOOOOOOOOOOODO.

[347] for (K=1; K<=5; K=K+1) { print(K); }; h
1
2
3
4
5
[348] 0
[349]
/

09 00 (00O0)0¢def0000D00.O00000DO0DO0OOOOOODODO,00000
O0000. 100 NODOOODOOODODOO mein000O0O0,100 10000000000
goooo.

4 N

def main(N) {
S = 0;
for (K=1; K<=N; K++) {
S = S+K;

}

return S;
}
main(100);

\_ j

Ub000oob00o000000000 a.rrd emacs O ktext DOOOO0OOOOOOOOOOO,
load("./a.rr"); O0O0OO0OODODOOOODCOOOODO.

23 0O00OO0ODOOOOO

23.1 000

gboboooooooobooboobooobo,boobooo0ooooboooboobooboon
0O00.00000000000000000000000000000O0. Risa/Asir0000O0O
O [ ] O00OOODOO0O.00000 asciitestr 00000000 OODOO.DODOOO
gooooooog.

e JOOOOODOODODO.
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e UOOOOODOODO.
e OO OOOODOOODO.
e UDOOODOODO.

gboboobooboobooboo,booboobooo,00b0oboooooboooobooooon.
OO0 emacs 0 LISPOOOOCOOO0O0O0O0O0OO00OO0OOOODO emacsdd 1000000CO
OO0 LIS o0oooooOoooon.

1. 0000000 (00 1)

(0] A =[1,2,3]; goooo
[1,2,3] obooooobooog

2. 0000000 (00 2)

[1] B = cons(0,A); Ooooooono
[0,1,2,3]

[2] A; AOOoOooooog
[1,2,3]

3.0000000 (@0 3)

[3] C = cdr(A); cdr=0000;000000000
[2,3]
[4] A; A000O0D0O00OO
[1,2,3]
4. 0000
(5] A =1[1; Jooooooooo

]
[6] cons(1,A);
[1]

5. 000000 (OO 1)
[7] car(B); car=00;000000000
0

6. 000000 (00 2)

[8] BI[2]; ooooooooo
2

r.0000O00
[9] B[2] O 5; goooooo

putarray : invalid assignment

return to toplevel



24. DO00OO0OO0OOODOOODOOO 13

. ooOoOooOO
(101 A = [1,2]; A, B ODODDOOO, ¢ OO
[11] B = [3,4]; [1,2,3,4] O00O0OO.
[12] C = append(A,B); cons 00 O00O00OOOOOOODOO

OO0o00o0oO0oOoo,dogd RSA
Uob0Ob00000 append UOODOO
oo.

010 00000000000,A0BOO0O0O0O0O0OCODOOOOODOOOOOOODOO.

ogoooa ooo
I
def quo_rem(A,B) { [1] QR = quo_rem(123,45);
Q = idiv(A,B); [2,33]
R = A - Q+*B; (2] Q = QRr[O];
return [Q,R]; 2
} [3] R = QR[1];
/ 33

24 U00ODLOOODLDOOOOOO

000 Z, 0000000 kjz)]000000000000000: RO 00000000000
00000.0000 RO 00000000 f,¢0000,

f=aqg+r, deg(r)<deg(g)

0000 ROO ¢ r00000. D00 R=2Z000 deg(f) = |f], R=k[z) 0000
deg(f)=f000 0D0OOOO
0000000000000000000000000000,000000000000000
00000000,000000000000000000000000000.00000000
0,Object 00,000,00000000000,0000000000000—000,000—
000000. 000000,000000000000000000000000,000000
000000. 00000000000000 Object 000000000000 (JavaOOOD
000000)0,000000000000,000000000000000000000.

25 JUoooboor10bbobuooooobod

100000007 00,00000000000000000000.00000000000
0000000,00000000000000000000000000000000.
f,geQz]0000,00000000000

000000o0o0oooooUoo0. (Do)ooooooo

V(f,9) ={a € C|f(a) = g(a) = 0}
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00o0o0oO0U. oo0oo0ooUoooo,V(f,g) DODODD0ODODDODO0OO0DODO0OOO0OUOOOO? O
gboooboo,oboooooboooooboon.

ocoooooooooo0ogooo,bo0gooooooooogooo. 10 f,g0oooooooon
O0000.000,Qz 00000

I'={f,9) =A{p(x)f(z) + q(x)g(x) [ p,q € Qz]}
gooo.oooo,
V(f,g)=V({I)={aeC|h(a)=0forall hel}

ooo.
0o,I00000000,
I=(h)

000000 AO00000. V) =V(k)00000000000000,A200000,VJ)0
000000,00000000,0000000,VJ)0000,A0000000000. A0
f,¢g0GCDOOOOODODOOOOOOO00000,00,0000000000 kRO f,¢g000
000,0000,Ah=000000000,V(f,g)00000000000.

0000000000000000000. 00 ged(F,6) 0000 FO ¢cOOOO0OOOOO
(GCD) 0000, 00 division(F,¢) 000000000, ¢ r000000. variety(F,G) O
ooooooooooo.

00000000000000000 ged.rr000.

def in(F) { A
D = deg(F,x);
C = coef(F,D,x);
return(Cxx"D) ;
U y,
~

def division(F,G) {

Q =0; R=F;

while ((R !'= 0) && (deg(R,x) >= deg(G,x))) {
D = red(in(R)/in(G));
Q = Q+D;
R = R-DxG;

}

return([Q,R]);
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def g_c_d(F,G) {
if (deg(F,x) > deg(G,x)) {
S=F; T=G;
Yelse {
S=G; T=F;

while (T '= 0) {
R = division(S,T) [1];
S =T,
T = R;

}

return(S);

\\}

def varietyl(F,G) {
R = g_c_d(F,G);
if (deg(R,x) == 0) {

print ("No solution. (variety is empty.)");

AN

return([]);
}elsed{
Ans = pari(roots,R);
print ("The number of solutions is ",0); print(size(Ans) [0]);
print("The variety consists of : ",0); print(Ans);

return(Ans);

}
end$

gbooobooboobgooboobobooboobooboobooobooo.

1. deg(F,x) : OO0 FOOO xOOOODO0O0OOOODO.O0000, deg(x™2+xxy+l,x) 0
2000.

2. coef(F,D,x) : 000 FOOO xODODDODODOOO. ODODODO,000FDOOOx0O100
00000000 xD DODOODO.DODO0O coef(x™2+xxy+2*xx+1,1,x) O y+2 0O
oo.

0000000, help000000000000000000.
0.2°-1=0025-1=00000000,V(*-1,26-1)000000000.

[346] load("gcd.rr");
1
[352] varietyl(x+1,x-1);

No solution.(variety is empty.)

(]
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[353] varietyl(x"4-1,x"6-1);

The number of solutions is 2

The variety consists of : [ -1.0000000000000000000 1.0000000000000000000 ]
[ -1.0000000000000000000 1.0000000000000000000 1]

[354]

oo000o00o0ooo,00ooo0o000oooo0ooooooooooOoD,RSAOOOOO
goooooooooog,bobobooooboobooooobooobob. bobob, 0000000
gbobooboobooobooboooooobooog.

gb130000000000000000O000O0DOODOOODOO.

ub 20000400040b0040o4aano

p(@)f(x) + q(x)g(x) = d(x)

00000000000000000,0000000000000.000, f,¢9,d000000
0Doooood,p ¢O0O00000.

00 3 00000ggg goooooooooooooo!ocoobooooD. oboooooo
gooo,0oo0obobobobobooooobooboooob0. obobobobo,oob0g0o
gbobooooooboobooboboboboboboobooboo,0bobobobobOoobooon.
obooobOoboooboobooooboobooooooboon.

00: 0000,0000000000000000000,0000000000000000
000000000000000.0000000000,0000000 00000000000
000,000000000000000000000,0000000000000000000
0.000000,0000000000000000000,0000000000000000
0000,000000000000000000 (000000)0000000000.0000
000D000000000000 Buchberger 0000000000, 0000000000000
00.000000000000000000000000000,00000000000000
0000,?7?0000[1)000 [2000.

Risa/Asir 00 000000000000000,gr0 hgr000.0000000000,00
000000000, 00000 GCDOO0OO0OD. xO0000 FO GO GCDO, 00 {F,G}
000000000000,0000 gr((F,61,0x]1,0); 000000O.

26 0UU0OOO

00000 gedO, f=(22%+42%+3)(32 + 422 +5)10, g = (203 + 422 + 3) (423 + 522 + 6)1°
O GCboooooooo.

[151] F=(2%x"~3+4*x"2+3)* (3*x"3+4*x"2+5) "10%
[152] G=(2*x"3+4*x~2+3)* (4*x"3+5*x~2+6) “30%
[1563] H=g_c_d(F,G)$

6.511sec + gc : 0.06728sec(6.647sec)

000000000000, 000000000000000000000. 00000000
203+ 4224+ 30000000. 000000000 ptozp(F) D0DDODOOO. ptozp(F) O, F
000000000D00,000 GCDO 10000000000000000000000.
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[154] ptozp(H);
2%x"3+4%x"2+3

oooooboboooobo,0bu ged00d, 0000000000000 DOODOODOOOOD
gobooboob.boobo,bcobobooobooooboooboo.boo0,00bo0gboooo
ocooooooooo.obo,00oboboobo0o0Oo,GéboooooboobooOoooooDboboboBbOoo
oooo,0o00b00b0o0o0ooo.

\

def remainder(F,G) {
Q =0; R=F;
HCG = coef (G,deg(G,x));
while ((R !'= 0) && (deg(R,x) >= deg(G,x)))
R = HCG*R-coef (R,deg(R,x))*x" (deg(R,x)-deg(G,x))*G;

return R;

}
N /

oooo0o,000000 kD00

lc(g)kf =qg+r, deg(r)<deg(g)

(e(g) 0 g0DO0O0DDOOO)00 reZz000000000O0O0. 00000,000 division
gooooooog.

~
def g_c_d_1(F,G) {
if (deg(F,x) > deg(G,x)) {
S=F; T=G;
Yelse {
S=G; T=F;
}
while (T !'= 0) {
R = pseudo_remainder(S,T);
S =T;
T = R;
¥
return(S);
C J

Needed to allocate blacklisted block at 0x988d000
Needed to allocate blacklisted block at 0x9899000

[207] g_c_d_1(F,G);

gobooogob,00bd0dbbo00bb0o00boogbboO. 00, pseudo_remainder OO0
k{g)k goog,00bdboobobobob0oboboobobon. bOD, pseudo_remainder
U000 ptozp OO onog.
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def g_c_d_2(F,G) { A
if (deg(F,x) > deg(G,x)) {
S=F; T=G;
Yelse {
S=G; T=F;
¥
while (T '= 0) {
R = pseudo_remainder(S,T);
R = ptozp(R);
S =T;
T =R;
}
return(S);
J )

[237] g_c_d_2(F,®);

2*%xX"3+4%xx"2+3
0.057sec(0.06886sec)

0000000000 O0O000. ptezp OO, 00000000 GCDOOOOOOOODODOO
oooooo,obo00oooog,cgecbobooooooOo,gecboobooooooOoooooo
O000000.0000000000000000. [3] Section 4.6.1 000 [2]540 0000
oooo.
goooboobo,obobooooobobooooboob,0cob0obooboobobooonog
oboooooboo.oo,0b0o0oboobobooboobooboooooboooooboooon.

00 4 gcdO ptozp 0000000000000. 00000 ged ged20000000
0000000,00000000000000000000000.

2.7 Risa/Asir 0 Windows 00000

oooooon
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030 KnoppixOODOODOODOO (Basic,
Asir, Yorik)

oo
00000 100 basic (Knoppix/Edu), Risa/Asir, yorick 00000, 000000000000
O00000. Knoppix/math 000000000000 00O0OOO0O0OOOO,00000000
gooobodobooooboboobobOo, bbb oobobooobuobobnoo
goooooooon.
gbooobogboobooboboobooboobuooboooboooo.
00000000 Knoppix/math 00000000, yorik 000000000 O0OOOOOO
00 xaos DOOOODO.

3.1 000oooogod

OO0o0o0oooo0oooooo0oOooooObOoO0ooDoOo,0Db000bpasicOOOOOOoOO
gooob.ogbooobooboooboooboooooboooooboo.boobDoobooobooo
obooobooobooo.oboooboooobooobooooboooboooobooon 1000
gboooboobooobooboo.boooo,ob00booooboooobooboobooooon
coooooOooooooooo0ooooOooO0obOooOo.0obooOooDooOoDn, 100 basic
(Knoppix/Edu) O Risa/Asir 00 0000000000000 O0OOOOOO.

3.1.1 000 — flow chart

000000000000 000O0O00U0O00O0OD,000000000 “000” (flow chart)
ooo.
D000 1+4+1+...4{4 0(00)000000000000000000000
’ s<—0,k<—1‘
!
’(1)s<—s+1/k‘
!

l
k> 100 0? Xﬁ]sDDDDDDD

| no
| ()ooooooo
0000000000000000000000000000000000. 000000000
00000000.00000000000000,000000000000000000000




22 030 KnoppixUODOOOOOOO (Basic, Asir, Yorik)

0000000,0000 (0000000)000000000000000.

DD,DDDDDDDDDDDDDD s00000,00000000.0000
(1)0000000000 sO00 00000000,k00 10000000.(1)0000000
00000,000000+41=1000s000000 (1)000000.00[k«—k+1 |0
000000000 k00 1000000,00000000000,00000 0+1=1000
xk0000000000000.k0 10010000000 (1)000000.

00 (1) 0000000000 sO00 10000000,k00 20000000, (1)00
0000000000,00000 1+1/2=15000 s000000 (1)000000. 00
[k—x+1|0000000000x002000000,00000000000,00000
2+1=3000 k0000000000000.k0 1010000000 (1)000000.

00 (1) 0000000000 s00 1.50000000,k00 30000000.(1)000
000000000,1541/30000 1.8333---3000 sO000000 (1)000000. OO0
000000000000 000000000000000000. (0000000000000
000000.) 00/ k—k+1|0000000000kx003000000,0000000
0D000,00000 341=4000 k0000000000000, k0 1010000000
()0Dooooo.

0D000000 k0 10000000000000.

3.1.2 s=s+1/k00007

000000000 BasicOUDOOODODOOOOOODOOOODOD.

a N

10 s=0

20 k=1

30 s = s+1/k

40 k=k+1

50 if k < 101 then goto 30
60 print s

70 end

N /

BasicOODODOOOODO =0000D0000000O0DOOOOOO0ODODOOO0OOOO,0000

0000 s = s+1/k DDDDDDDD.
00, x=k+1 O[k<k+1]|0000000.

Oo0OooDOo0ooOOo0obO0o0obOOoooobboOobobD. oooonD,0000, km2+2«k+1 = (k+1)72 O
OO0000 basicOOODOOOODOOOO,000000.

3.2 for OO0

20,40, 5000000000000 OCODOOOO. 0DO0O0DOOOOOOOOOOOOOOOOnDn
OOoO0o0.0000 for0000DOO0O0ODODOOODOOOOOODO.
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4 M

10 s=0

20 for k=1 to 100
30 s = s+l/k

40 next k

50 print s

60 end

N %

3.2.1 OO
1. 12+4+224+...410°000000000000000000, Basic000D000O0O0DOO.

2. 000 fag1=fr+1/fe, A=10000000 fio 000000000000000OOO,
Basic 000OOOOOOOO.

3.000000002%000000000000000000,Basic0000O0O0O0OO0.
4. 1/10!0 (00)0000O0OO0OO0O0O0OOO0OOUDOOO0OOO,BasicOOO0OOOOOOOO.

. Zi:()Ol/k!(O!:lDDDEI)D (00)ODoOODO0DUDOOOOUOODOOOOUObOOoO, Basic O
oooooboooog.

6. 00000000000 0U0O0O00 «0 b000000 ged(a,b) 000000 OOOOOO
00000, BasicODO0O0OO0OOO0OOODO.

3.3 Debug 000
3.3.1 printdUgdnj

3.3.2 U0bOOOobobobOobooboboobuoobuooboobobobbon
goooo

goog
Jrve=frratfe, fi=fa=1
goooono (D ooooono D) Ol1ooo0000000000000O000.

10 a=1

20 b=1

30 for k=1 to 100
40 print a

50 c = atb
60 a=b
70 b=c
80 next k

0000 | 00000 \DD \DD \DD \DD \DD\

k 1 2
a 1 1
b 1 2
c 2 3
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1. ‘0070 s00000000000000DO0OO0.

O0.00000000040.
O00:. 000000000000 O00000O0O0O0000O0O0OoOo0OoOoOooobooaa.
oo:

1. 0000 (D00000)0 BasicOOOOOOOOOOUOOOOOOO,COo00O0OOOO
ooooboo.obobooobooboooon.

2. CO000000OoOooooo,opooooO,0ob0 20000000000 OOOODODOO.

3.4 UU0U0Oooooogd

000000000000 0U0o0o0oUoO0o0ooO)00DoUooooog.

3.4.1 OO00OOoOoOOOO

O f¢x)O0O0O0O0OOOOOooOoo

f#) =a)f(t) + (), f(0)=c

0000000000000. 000 a),b(t) 000 t000000,c000000. 0000
a(t) = —1, b(t) = |cos(t)|, c=2000000000000 f/(t) = —f(t) + |cos(t)], f(0) =20
oo.

f(t)00D0 +000000,0000000000000000000000000000000
00,0000 f(0)=c0000000000000 f(t)0000000,00 00000000
0000 +00000000000000000.

00 h=At000O000,0000 A=000001000. 00000000000 f/(t) O
(f(t+h)— f(t))/h000000O. 000

F(E+R) = J() +hf'(8) = F(£) + (ADF (1)
000.000000000000 f/¢)boooooo,
F(t+h) & £(8) + hla(t) f(t) + b(t)) (3.1)

000.000 f#)0 h=At 0000 f(t+h) O f(t)+h(alt)f(t)+b(t) 000000000
00000.000 (3.1)0 0000 0000 f000000 fO000000000O0.
(3.1)00¢=00000,

f(h) = f(0) + 1(a(0)£(0) + b(0)) = ¢+ h(a(0)c + b(0))
000.00000t=h00 f(#)000000000.00 (31)0t=A0000,
f(h+h) = f(h) + h(a(h)f(h) + b(R)),

t=2h 0000
f@2h + h) = f(2Rh) + h(a(2h) f(2h) 4+ b(2R))
00od,00 t=2h,t=3h01 f(t)DDDDDDDDDDDDDDDDDDDD.DDDDDDDD
fr1 = fr + h(a(hk) fi + b(hE)), fo=c (3.2)
000 f 000000000000 t=hk0O0O f(t)DDDDDDDDDDD.
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3.4.2 0OU0O0O0OO0OODOOO

00 5 000000000 wn(t),y(t) 0000000 0D0O00O0ODOOO0O0OO0ODOOOOOO
ooooooooooo. ((fkeey OODOOOODODOOODOOOOODOOOOOOO.)

Y =2—y2)y1, v =2y —3)y2, 11(0) =4,42(0) = 1.

00:00 2000 10000. »¢) 000 ¢+000000 100. 5t 000 ¢+000000
200.0000000000.
00.,00000000. y1(t) = f(t), »2(t) =¢(t) 00DD0. 00000000000

Q

ft+n) = f() h(2 = g())f(t)
glt+h)—g(t) =~ h2f({t)-3)g(t)

ooo. 000,
flt+h) ~ fO)+h(2-9g1)f(1)
glt+h) =~ g(t)+h(2f(t) —3)g(t)

ocoooogoooo too f,g00O0OOO0OOOOOO,00000 t+A0O00 f,gOD0OOODO. O
goooooo

ferr = fro+h(2—gr)fr
gk+1 = gk +h(2fk —3)gk
fo = 4,
go = 1

000 fo, 9 0000000 fr,9:0 00 Ak OO f(t),g(t) 0000O0O0D0.
4 ™

100 SET WINDOW -1,10,-1,10
110 DRAW axes

120 LET f=4

130 LET g=1

140 LET h=0.0001

150 FOR k=0 TO 200000

160 LET f£2 = f+hx(2-g)*f
170 LET g2 = g+hx(2xf-3)*g
180 SET COLOR O

190 PLOT POINTS: f,g

200 SET COLOR 4

210 PLOT POINTS: £2,g2
220 LET f £2

230 LET g = g2

240 NEXT k

250 END

N J

http://www.math.kobe-u.ac.jp/ ~ taka/2005/prayp.bas 0O O OOOOOOOO.

OO0 e 0000 fo=49=10000000 1,2000000000000000000000
oooo.
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3.5 Uoouoood

coooooooooooooooooOoooboOooooOoboOooOoobo 1YoOoOoOo 20000
obooboooobooooobooboobooo,boob0ooboobooooboboobooboon
ooooo.

ocooobooooooooooooooooooobOOobocOoOoOoooooOobOOobocboOoOoOooooo
ooooo.roooooooooobo. boboooooobooooooobo,bob000o0obOobo0o
gboooboobobo booogobdboooooooboobo. boboooooobooboooooon
cobodooooboooooooooooooooooooon.

cooooooooooboobocOoOooooOobocOooooooooocooooooobocoooooon
gbobooboooobooooooooog.
ool
()oooooo0ooooOooDo0oD,0000000000.
(2) 180,190,200 000000000 OOOO. DO00DOUOUOUOUOOOOOODOODOOOO
gbooo. 0bobobgo 8s8b0oogo. sboboooooooobob s§000oooooooon
oooooobodo. ooboooo. 0ooooo0oobo. 0o0o0o0oo00o0o0d 235000 wait
delay OOO0OO0OOOOOOOOOO
wait delay 0.1
gbooood.o.10gol1b00O0obOOobOOoOoOoOoDnOO.

e N

100 ! lorentz.bas. Solving pl’ = -a pl + a p2,
110 ! p2’ = -p1 p3 + b pl - p2

120 ! p3’ = pl p2 + ¢ p3

130 SET WINDOW -25,25,-25,25

140 DRAW axes

150 LET a=10

160 LET b=20

170 LET c=2.66

180 LET p1=0

190 LET p2
200 LET p3
210 LET dt
220 LET t =0

230 FOR t=0 TO 50 STEP dt

235 wait delay 0.01

240 LET ql = pl+dt*(-a*pl+a*p2)

250 LET g2 = p2+dt*(-pl*p3+b*pl-p2)
260 LET g3 = p3+dt*(pl*p2-c*p3)

262 SET COLOR 0

264 PLOT POINTS: pil,p2

266 SET COLOR 4

270 PLOT POINTS: g1,q2

0
0.004

280 LET pl =ql
290 LET p2 = g2
300 LET p3 = q3

310 NEXT t
320 END

J
0000000003000000 py(t),p2(t),ps(t) 00000000000000000. a,b,c
DooOoooooooo.

p1 = —ap1+apa,
Dy = —p1p3+bp1 — po,
pP3 = pip2 +cp3
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O000ooooo (p(h),p2(t)) 000000OOOO.
http://www.math.kobe-u.ac.jp/ ~ taka/2004/lorentz2.txt DO O OOOODOOODO.

oboooboopsonooooonoo

ql —pl
dt
O00.4t 00000 (D0000D0000 0.004)00000,00 910 pi(t+4dt), 00 p1 O
pi(t), 00 g2 0 po(t+4dt), 00 p2 0 po(t), 00 g3 0 ps(t+4dt), 00 p3 0 ps(t), 00000.
oooooD 20000

= —a*xpl+axp2

p1(t +dt) — p1(t)
dt

—ap1(t) + apa(t) = ~ pi(t)

(0OUC0OO0O0OO0OO0)0UDOOOOO0O. 00O 250,2000000000200,300000000
ooooooo.

3.6 200000000000

oooo,0000000
2

Ty =0

gboooboooboooboobon.

oooooooon:
gboo,0o00b0boboobooboooooboobo.obooobooboooboono

ol x 0Ogo =10

00000000. 000000 Newton 000000000. 00000 ¢t0000000
() 0000,000 ¢(t), 0000 ¢"(t) 000
1000000000000000000 1000 WOOO0OO0O.00+¢0000,Ww 00
00 y() 00000000. 000,0000000000000 y=0000.00000
00000,0000000 yO0OOOO (0000000000000)0000 WOOo
000 —kyO0O0O0. 000 ¥000000000. 000 k=100000 Newton 000
000000000,0000000

y'+y=0

ooo.
N J

y(0)=1,y/(0)=000000000 y(t)=cos(t) 000DDD0000000,0000000
0000000.00000000,cs0 sin00000000000,000000000000
0O0O0000.0 (??7)00,A00000000,

y(t+h) —2y(t) +y(t —h)
h2

+y(t)

oo ooooo.ooboooa,

y(t +h) =2y(t) —y(t — h) — K*y(t)
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000000000000000000. 000000 ¢-A0¢0y000,0000000 t+h
0y000000000.00 y0)0 W2 popooo. y(0)=0000, y(h) =y(0) O
00000000000000000.00000,000

Ykto = 2Ukt1 — Yk — PRy, yo = Lys = 1 (3.3)

bobobobobooooboo,cboboboboboboboobooocoooon0. 000 v
OrkO0D0yO0D00OO0O00DODOOODOOOO.000DOOOODOOOODOOOOOOO
0.000 (3.3) 000000000 00O, 0000ooooooooan.

' gooooo y’’+y =0 <\\
LET x1=1
LET x2=1
LET dt=0.01 ! 0O00OO0O0ODOOODOODOOODOOO.
!y k+2), y(k+1), y(k) O x3, x2, x1 00O0O.
'h O dt O0O0O
FOR t=0 TO 3 STEP dt
LET x3 = 2*x2-x1-dt*xdt*x2
PRINT t,x1
PLOT LINES: t,x1;
LET x1=x2
LET x2=x3
NEXT t
\\FND ‘//

00000000 '0o0o0000U0o00 (bo0Do0)0Do0O,00000DO0U0LO0OOoOOO. !
oboobooboobooboooboooooo.ooooobo '1+ooobooboooboogo. oo
obooobOooooboo,obooboobooboocooboooon.

oo0,00000000000000DO00DOO0,0b0000000DO0DOOOOODODOOODOO
oo,b0000o00boo0oooobobooooo,00oboobooooooboboboooooD
gboboobobooboobooooboboooobo.oooboooboooboooboog.

oOo.0o0o00ooo0ooobo pRO0O0. 00 pOODODOOOOOOOOOODOOOOD. ODO
0oo100o000l00.00000000DO0O00O0OOODOOOOO,AOO000DO0O00DDO
0000000000000 00000UD (00000 UDL)0D0DD0DOoOooDoOOO.

oo 7
AOD0DO0D0OOOODOOOOOOOO.
dy y(T +h) —y(T)
(T A S A4 s
) h
dy y(T +h) —2y(T) +y(T — h)
w0 = 72

00000O000000000U0o00o000UO00O00. (Co0OoUDU0oO0OUOUooOoOoUoo
0000.) 000000000000o00ooooo0oooooooooooan.

y' +3y=0, y(0)=19(0)=0.

0000000000000000000000000000. (1)00000 ¢’+y=0,y(0)=1,
y/(0)=00000000000000007 (2)0000000000000000007 (1), (2)
0000000000000000.0000000000000000,“0000000000.

ooooooooooo”ooo.
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3.03000000,0000000000000 ¢"=-980000000. (a)000O0ODOODO
000,0000.0000000000007 (h)OOUOOOUODODOOODODOUOOOOOO,000
0y"=-98—-ay 000 («00000O0O). 0000OO0ODOO0OOOOOOOO.

\\
//100 ' 000 y’’=-9.8, y(0)=100, y’(0)=0

110 SET WINDOW -1,5,-10,110

120 DRAW axes

130 LET y1 = 100

140 LET y2 = 100

150 LET dt=0.001

160 ! y(k+1), y(k), y(k-1) O y3, y2, y1 OOO. nh 0O dt OO0
170 FOR t=0 TO 5 STEP dt

180 LET y3 = 2*y2 - y1 -9.8*dt*dt

190  PLOT LINES: t,yl

200 LET yi1 = y2
210 LET y2 =y3
220 NEXT t
K230 END )

O0000,0000000000.000,
y'(t) = —9.8 — ay/(t)

gbdbodobooobogobgob.gobgoobaoboo.

y"(t) ~ ylt+n) - QZ;L(;) +ylt— h), Y () ~ w y'(t) = —9.8 — ay'(t)

00
y(t+h) —2y(t) +y(t —h)
h2

0ooo A20000,
y(t+h) —2y(t) + y(t — h) ~ —9.8h? — ah [y(t + h) — y(t)]

goooo
(1 +ah)y(t+h) =~ (2 + ah)y(t) — y(t — h) — 9.8h>

y(t+h) 0 y3,y(t) Oy2, y(t—h) 0 y1 00000, ~0 =0000,
(1+a*xh)*y3=(2+a*h)*y2—yl—98x%h?

gbooob soboooooboobooooboooboon.

Cwo LET y3 = ((2+axdt)*y2- yl - 9.8xdt*dt)/(1+a*dt) ]
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3.7 Risa/Asir 00007

load("glib");

def lorentz() {

glib_window(-25,-25,25,25) ;

A=10; B=20; C=2.66;

P1=0; P2 = 3; P3 = 0;

Dt = 0.004; T = 0;

while (T <50) {
Q1=P1+Dt* (-A*P1+A*P2) ;
Q2=P2+Dt* (-P1*xP3+B*xP1-P2) ;
Q3=P3+Dt* (P1%¥P2-C*P3) ;
glib_putpixel(Q1,Q2);
T=T+Dt;
P1=Q1; P2=Q2; P3=Q3;

end$

3.8 yorik UOODOOOOODOOO

OO00000oODoOoO0 OoooDOoO0OOD0O000 yorick DOOOOOODODODO. Yorick DODO
0000 Risa/Asir 00000000, yorick 0000000O0O0ODOO () DOOOO.
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// yorick
// http://www.maumae.net/yorick/doc/refcard/index.php
// include,"lorentz.yorick"
func lorentz {
A=10; B=20; C=2.66;
P1=0; P2 = 3; P3 = 0;
Dt = 0.004; T = O;
while (T <50) {
Q1=P1+Dt* (-A*P1+A*P2) ;
Q2=P2+Dt* (-P1*P3+B*P1-P2) ;
Q3=P3+Dt* (P1*P2-C*P3) ;
pldj,P1,P2,Q1,Q2;
T=T+Dt;
P1=Q1; P2=Q2; P3=Q3;

lorentz;

00000000 lorentzi 00000, include,"lorentz.i"
" & welications actions falll & B &

¥5 [
Syjten‘: 1 -14.2156,  19.6811) e

are

gt an
EDTHH\Hl\\uu\u\l\l\u\\/ulj Vight
= st
= - s u.ac.dp
0= = i i
a1 % sr-msi Soft Xrootenv.0  ftp.kaikel netanail inp this02
= - 3 Solaris  ach,gen gracl neu peif this03
= EH brs  Solaris? s kaikei  Fozc nsna: L 1504
- - arints THP. adn.noon FogeZ caku thisos
i g fuct ~ TTOE  ach.orange  k-hone.ter ost.pof P
0= 4, L leRts  ach.orange Kan.old publishtel  tmp-arch
- B [L*  Trash  achucke:  Mrop2tes senchail np2
= o u bin wail sound np3
& -4 s bl T mathsci tex-test twork
53 - Wt fe-vork wbox that work.
E UPity  Horkshop ftp Neno.tet  this

TUTTT U g
-10 7 o 5 10 13

(bex” khegodibex”  k-ntrootex® Kem2.aus k-prosper.tes  k-msa.aus
W kmintro.asc keksegad  kend tex  keprosper_tex” kersa.-ex

bash-2,05a8 cd Prog
bash-2,00a§ ls

CV5 lorentz.uorick lorertz.yomick™ nendel.l mancel.t™ trlangulate.n? 5
bash 2,0560 uorick Ze X
Trpunieht () 199A, The Regents nf the linfversity nf fal tfonia
ALL rights reserved. Yorick 1.5.14 ready. For help tupe 'help’

5 Elnclude ,lorenttz orick
|

Fri e 12, 160 [

Jtex  kegod.tex  keintro.tex  k-kssp.tex k-prosper.ak  k-prospter.:

goooaoo.
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3.9 Juooooon
391 0OO0OOOOOO?

3.9.2 Risa/Asir 000 Mandelbrot 00000

/* mandelbrot.rr */
load("glib")$
#define MAG 50.0
#define abs(x) (x < 0.07 -x : x)
def mandel() {

glib_open();

for (Ar = 0.0; Ar < 5.0 ; Ar += 1.0/MAG) {
for (Ai = 0.0; Ai <5.0; Ai += 1.0/MAG) {
X=0.1;Y=0.1;
for (I=0; I<200; I++) {
D = X*xXkX*kX+2*xY*Y*X*X+Y*xY*Y*Y;
X2 = ((2.0/3.0) *X*X+X*X*X+(4.0/3.0) *Y*Y*X*X*X-(1.0/3.0) *Ar*X*X
+((2.0/3.0)*Y*Y*Y*Y-(2.0/3.0) *Ai*Y)*X+(1.0/3.0) *Ar*Y*Y) /D;
Y2 = ((2.0/3.0)*Y*X*X*X*X+((4.0/3.0) *xY*Y*Y-(1.0/3.0) *Ai) *X*X
+(2.0/3.0) *Ar*xY*X+(2.0/3.0) *Y*Y*Y*Y*Y+(1.0/3.0) *Ai*Y*Y) /D;
if (abs(X2) > 30.0 || abs(Y2) > 30.0) {
break;
}
if (I == 199) {
glib_putpixel (Ar*MAG,Ai*MAG) ;

print ("Type in mandel()")$
end$

N /
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3.9.3 Yorick 00O Mandelbrot 0O O00O

/* include,"mandel.i" */
func mandel {
MAG=50.0;

for (Ar = 0.0; Ar < 5.0 ; Ar += 1.0/MAG) {
for (Ai = 0.0; Ai <5.0; Ai += 1.0/MAG) {
X=0.1;Y=0.1;
for (I=0; I<200; I++) {
D = X*xX*xX*kX+2xY*xY*X*X+Y*xY*xY*Y;
X2 = ((2.0/3.0)*X*#X*X*X+X+(4.0/3.0) *Y*Y+X*X*X-(1.0/3.0) *Ar*X*X
+((2.0/3.0) *Y*xY*Y*Y-(2.0/3.0) *Ai*Y)*X+(1.0/3.0) *ArxY*Y) /D;
Y2 = ((2.0/3.0)*Y*X*xX*X*X+((4.0/3.0)*xY*Y*xY-(1.0/3.0)*Ai)*X*X
+(2.0/3.0)*Ar*Y*X+(2.0/3.0) *Y*Y*Y*Y*Y+(1.0/3.0)*Ai*xY*Y) /D;
if (abs(X2) > 30.0 || abs(Y2) > 30.0) {
break;
}
if (I == 199) {
plm, [[Ar*MAG,Ar*MAG] , [Ar*MAG+1,Ar*MAG+1]],
[[Ai*MAG,Ai*MAG+1], [Ai*MAG,Ai*MAG+1]],color="red";

X2; Y = Y2;

mandel;

N /

3.9.4 Xaos OO0 Mandelbrot OO

Knoppix/Math O Xaos 0000000000000 Mandelbrot 0000000000000
oooooog.
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3.10 UDOogoooobood

DIM
FOR

NEX
LET
LET
LET
LET
LET
SET
DRA
FOR

NEX
END

\

b(20,40)
i=1 TO 40
LET b(1,i) =0
Ti
b(1,2)
b(1,3) 1
b(1,4) 1
b(1,10) =1
b(1,15)=1
WINDOW 1,20,1,40
W grid
n=1 TO 20-1
LET my =0
FOR j=1 TO 40
IF b(n,j)=1 THEN SET AREA COLOR 1
IF b(n,j)=0 THEN SET AREA COLOR O
PLOT AREA : n,j;n+l,j; n+l,j+1;n,j+1
IF b(n,j)=1 THEN
LET my = my+1
LET b(nt+1,j) =0
ELSEIF b(n,j)=0 AND my > O THEN
LET my = my-1
LET b(n+1,j) =1
END IF
NEXT j
Tn

1




oo

1] DooooOoo.
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040 Risa/Asir 000 RSA ODOODOOO

00,00
Risa/Asir 000 000000000000. 00000000000000000 TCP/IP O
OpenXM 00000000000000000000D0000.00 CO00000000000
00000000000000. 00000 Risa/Astr 0000000,000000000000
0000000 RSAOOOODDO Risa/Asir 0000000,

Risa/Asir 000000000000 1000,

4.1 Knoppix 00O Risa/Asir 0000

Risa/Asir 1000000 KDEODOOODOO|00000000 | [Math] = [ Asir(OpenXM)|
D0000. Asir D0000000000000 CDOOOO0OO000000000000000
00000000000000000. 0000 2MOO0O00000000000000 100
0000000000000, 00000000000 0000000000000 0 .asir-tmp,
TeXmacs, .asirre 0000000, 0000 knoppix| = [configure] = [0000000000 |
USBOOOOOODOO00D0000000000000000000.

[O00]

Oasr 000000 (DO0O0OOD)000. 000 Risa/Asir 0000000000 quit; O
O00O0.00 Asr000000OQ0OOOOOOOOODOODODO.

Asr 0000000000, 0000000000. DOoUODOoUODOoOUODOoOOooDoOgoogo
go.

011 +,-,+,/,~00000000,000,000,00,00.0000,
2% (3+5°4) ;
0000002345 000000000.

0 12 sin(x), cos(x) JO0ODOOOD0OOO. @i DOO0OODOODOO. sin(z) O cos(z) OO
goooooo

deval(sin(3.14));

OO0000.deval O 64 bit 00DOOO0OO0DOOOOODOO.

(e

O Asir D000O0O00O0. ; (00000)000000000LOO0000000. 00000 «
o000oooO0o0oU0ooOo0U0oo0. 00000 o000 ¢ (OU0O)OOoOoOOoO,0000

0 13
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O0000O00. Risa/Asr 00000000000 OOOO,000000 (H)OD0OOOOO. L]
0 {,}J00000000,000000D0O0OOO.

[0] ((2+42/3)*4+1/3)+5; ¢
16
[1] ((2+2/3)*4+1/3)+5$ &
[2]

O 14 plot(£); 0 2000 fO00ODODOOO0xO00DOOOO0ODOODOOODOODOO
plot(f,[x,0,10]) O0DOOOO0O,x0 000 1000000DO.

0
1] plot(sin(x));
0
2] plot(sin(2*x)+0.5%sin(3*x), [x,-10,10]);

015 00000000000000 [ctrli]#{C](CO cancel 0 C)0DO0OO0. OO0
interrupt ?(q/t/c/d/u/w/?)

00000000 [u]e@00000. 00

Abort this computation? (y or n)

00000000 [y]e00000. (g/t/e/d/u/w/) 00000000 ? 00000000000
ooo.

[0]  fctr(x~1000-y~1000); &
[corihc]
interrupt ?(q/t/c/d/u/w/?) u
Abort this computation? (yorn) 'y &

return to toplevel

[1]

4.2 Risa/Asir 00000000

AsirO0O0O0OOOODODODOD. 0000

( fctr(x~10-1); )

000000 2'0-100000000.0000000000000,000000000000
Oo0oobooobD. 0000 x220000,2:2000000000000000. 2000 20 x*2
ubobo.d0oboooooboobooboboo.obobo koboooo.

Risa/Asir 000000000000 O0OO. O0O0U0O0ODOO0OOOOO fordonooQ.
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O 16

[ for (K=1; K<=5; K=K+1) { print(K); }; ]
000000000. 00000000 print(K) 0 KOOOODOOOODOOOODOOOODO.

4 N

[347] for (K=1; K<=5; K=K+1) { print(K); };

a b W NN -

[348] ©

[349]
N J

017 00 (000)0def000000.0000O0O00O00OOOOOOOOOO,0000
obooob. 100 NOOOOOOODOO0DOODO mainO0O00O0OO0,100 10000000000
oooooo.

a N

def main(N) {
S = 0;
for (K=1; K<=N; K++) {
S = S+K;

}

return S;
}
main(100);

N J

Ubobooboo0o0o0oo0noubO a.rrd emacs U ktext DOOOOOOOOOOOOOO,
load("./a.rr"); O0O0OO0DODODOOOODOOOODO.

4.3 0OO0OO0OO0OOOOO

4.3.1 00000, 0000000

gobogoooooob,bo,0b0,0b00b0000000bbo0200000000000C000
U.0bo00boobo 200 80obooooooboboob.ooooobooboob 200000, 0
oboooooo,bo0oo0oobobooobooooboobo. cobooboobobooooOoobooon
o,0boooogoooo.

2000 800000 1byteODOO. OOODOODOOOODOOO 1byteODOODDOOO
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U.2000 00 10 200000000000000.2000 100000000000OO.

0000 | O
0001
0010
0011
0100
0101
0110
0111
1000 | 8

N O O s W N

Antn_1---ag, a; € {0,1} 00000 2000 1000000000,
n
Zak2k
k=0

0000.0000,200 11010,284+22+200000.
200000000000000000,000000 160000000000.1600 200
200 800000000000 OOOODO. 160000

0,1,2,3,4,5,6,7,8 9, A,B,C,D,E,F

0O 10000oooooooooo0. AQ o000 10,BO 10000 11,CO 10000 12,D
01000 13,E0 10000 14,F0O 10000 1500000.00000,200,1600, 10
obooooobooooobon.

0000 | 0| O 10000 | 10 | 16
0oor | 1|1 10001 | 11 | 17
0010 | 2 | 2 10010 | 12 | 18
0011 | 3 | 3 10011 | 13 | 19
0100 | 4 | 4 10100 | 14 | 20
0101 | 5 | 5 10101 | 15 | 21
0110 | 6 | 6 10110 | 16 | 22
0111 | 7| 7 10111 | 17 | 23
1000 | 8 | 8 11000 | 18 | 24
100119 |9 11001 | 19 | 25
1010 | A | 10 11010 | 1A | 26
1011 | B | 11 11011 | 1B | 27
1100 | C' | 12 11100 | 1C' | 28
1101 | D | 13 11101 | 1D | 29
1110 | £ | 14 11110 | 1E | 30
1111 | F | 15 11111 | 1F | 31

16000 0x0 HOOOODOODOOOOO. OO0 AOOD FOODOOOOOOOOOO. 0000
0x1E, Oxle, IEH, 1leH 0000 16000 1EDDD. anan_1---ap, a; € {0,1,...,F} 00000
16000 1000000000,

i ak16k
k=0
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OoQ0D0. 000 «; 00xADDODODO 10,0; 0 0xBOOODO 11,000000.2000 1600
goooooooooon.

OO0 800 160000 1w000,200000. 0xFF, 0x100, 0xFFFF, 0x10000, 0x81.
o0 9 ledboooooboooooon.

gbooobOoooooboobo 200000000000, 0000000000.OD0000000
oboboooooboooooboboooboobooooob. ocobobooobooobon.

20 40 @ 60 ¢
21 ! 41 A 61 a
22 " 42 B 62 b
23 # 43 C 63 C
24 3 44 D 64 d
25 % 45 E 65 e
26 & 46 F 66 f
27 ’ 47 G 67 g
28 ( 48 H 68 h
29 ) 49 I 69 i
2a  * 4a J 6a j
2b + 4b K 6b k
2c , 4c L 6¢c 1
2d - 4d M 6d m
2e . de N 6e n
2f / 4f 0 6f o
30 0 50 P 70 p
31 1 51 Q 71 q
32 2 52 R 72 T
33 3 53 S 73 s
34 4 54 T 74 0t
35 5 56 U 75 u
36 6 56 V 76 v
37 7 57 W 7w
38 8 58 X 78 x
39 9 59 Y 79 vy
3a : ba Z Ta z
3b 5 [ ™ A
3¢ < 5¢ \ 7c |
3d = 5d ] 74}
3e > be - Te -
3f ? 5f 7

20HOOO,20H000000000000000.0000,wix00 0AHOOOOOOOOO
O00000. 0oooooooo oSOoooooooo. MSDOS O Windows 00O 0DH, OAH
O2000000000000,Macintosh OO ODHODOOOOODOOOOODOOOO.
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00 10 (05) 0UO0O0O0OO0O0DOOOOODOUOOOOOOOOOO

Do not cry over the spilt milk.

Risa/Asir 00000000 strtoascii 0000 O0O0O0O,000000000O00OOOO,
gbooobooboobgob.oobobobobibg asciitestr U QO 0.

[1271] strtoascii("ABC abc"); @
[65,66,67,32,97,98,99]

Ub0o0oO0O0obOO0o0O0o0o0O0obO0b00n ABC abcOOOOOODOOOOOOODOOO. OOOOO
oo0 200000000000.0000000D000O000DO.

[1272] asciitostr([65,66,67,32,97,98,99]); «
ABC abc

4.3.2 000

oooooooooobooobooboob,boo0b0o0oo0ooooboooboooboooobooo
O000.0000000000000000000000000000D00. Risa/Asir 00000
O [ ] D000ODO0OO0O0.00000 asciitestrJ00000000OO0ODDODO.DODOOO
goooboooog.

e NODODOODOOODODO.
e JOOODOODOODO.

e DD ODOOODOODO.
e JOOODOODO.

gboabouogbooobgooo,gboobobboa,bgbobobbooboobogboobgan.
O00 emacs O LISPOO0DOOCO0ODOOCO0ODODOO0ODOCOO0ODOD emacs00 10000000
OO0 LISpOOOOODODOOOOO.

1. 0000000 (00 1)

[0] A = [1,2,3]; goooo
[1,2,3] oooooobooog

2. 0000000 (00 2)

[1] B = cons(0,A); oooooood
0,1,2,3]

[2] A; ADODOODOOOO
[1,2,3]

3.0000000 (@00 3)
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[8] C = cdr(A);
[2,3]

(4] A;

[1,2,3]

4. 0000
(5] A =1[1;
1

[6] cons(1,A);
[1]

5. 000000 (OO 1)
[7] car(B);
0

6. 000000 (0O 2)
(8] B[2];
2

7.000000
[9] B[2] O 5;

putarray : invalid assignment

return to toplevel

. Jooonono
[10] A = [1,2];
[11] B = [3,4];
[12] C = append(A,B);

43

cdr=0000;000000000

AOO0O0Oooogn

pooooboooog

car =00;000000000

gboooboooboo

gbooobood

A, B 00OODOOO, ¢ OO
[1,2,3,4] ODOOO.

cons 0000000000000
00000000000, 000 RSA
00000000 append 00000
oo.

018 00000b0oooob,Ad BO00b0OO0O0ooobO0ooooooboooooona.

goooo
\
def quo_rem(A,B) {
Q = idiv(A,B);
R = A - Q*B;
return [Q,R];
}
J

goo

[1] QR = quo_rem(123,45);
[2,33]

(2] Q = Qr[0];

2

[31 R = QR[1];

33
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4.4 0O0O0OOOOO
RSAOOOOD,000000000000.

001 GO00 (00000)0 n0000000 GUOO0OD «0O000 a"=e000. 00
OedbOoooon.

000000000,00000000000000

0000000000000 0000000000,0000000000000000000
00000000000000000000000000.

00 1000:0 GO 000000000 g¢y,...,9,0000.0000, {agi,...,ag,} 00
000000000,G0»0000000000000.0000,0000 agi=ag; 0000,
«000000000000000,¢=y¢;,000,00000000000.

{91,--.,9x} O {ag1,...,a9,} 0000000000000 OO,

g1 gn = (ag1)---(agn) = a"(g1-- - gn)

ooooobo. oo ¢1--rg, 0000000ODO0OO,e=c"000.00000.

pUO0000O0D00.0D00000DOO,Z/PZOO0OO
G={1,2,....,.p—1}
ooooo0o,0000000.
OO0 2p00000000,p0000000000 20000,
271 =1 modp
aoo.

0000000000000 00D00000.emodp 0,0 pO0O00O0D0O0O0DOOOOODOO
ogd.oooa
(a mod p)(b mod p) mod p = ab mod p

00000.000,e0 pO0000OO0O00b0 p000000000O000,p 00000000
0000,e 0 p00000000000O0000C0O. 00000000, 0000000 p0O
00000,00G={1,2,...,p—1}00ae G, beGO0000,abmodpe GOOOO0ODODO
0000000,G000p-1000000000000000,00 20000000.000
0100000000000. GO0 (000)000000000,000000000000.0
0000 100000000.

oo 11 l.pO00O000O0.e0 100,p—1000000000,
ab=1modp
odo1l10d,p—-10000 00000,

2.0,p000000000,ab= modpO0O00O0O bOOO0O0O.

. 0000000000 00DODO. OD0O0ODbOOoOoOn.
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O00:e0 p0000000000000000. Asird0,00 invO @, p00 00000
gooooao.

[346] for (I=1; I<5; I++) print(inv(I,5));
1

3
2
4

00000000000 0D00,0000 1x1modd=1,2x3mod5=1,3x%x2mod) =1,
4x4modb=1000.
googb:-00bod. oboobooobo.

4.5 RSA OO0OOOO

p,q000000000,
n=pg, n'=(@p-1)(g-1)
odod. eld
ged(e,n’) =1

goooboooboo.

de =1 modn’

o000 Jd000.00000 0000000 DOODOOOODOOOOODODODOOO,00 11
ooooo.

OO0 3mO20000000.0000 c=m modnO000O,
¢ =m modn
goooo.
O0:0020z=m%'modp 000000000,
(m? P~ = m™ =1 modp
000.00000000 ¢O0mp lO0D0O0O00DOO0,
(mP~1)9 " = m™ =1 modq

0000.m"-10 p00 ¢0DO000000 p0 000000000000 m™ —10 pg=n
000000.000,m™ =1modn 00000.

00,0000000,(m)%=mmodn 0000,00000000 fO00000 ed=1+ fn'
0000000000 m® =1modn 00000, (m¢)4=me =m!*t/" =mm”) 0 n0O0O0
0000 mOOOOOOOOO. 00000,
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gooooooooobbooooooooo,ooon
p=47,q="79,n=3713,n = 3588,¢ = 37,d = 97

000.0000,d0 inv(37,3588); 00000O000. 00000,00000 p,¢0000
00,000000000000000000000.

RSA 00000, pq,d 00000, e,n 00000, (e,n) 0000,d0000000. m (m
0n.0000)00000,

m® modn

00000. 00000000000000000 (00000000000000)0,000 40
oooo,

m® modn

0D0000. 0000000000000 mO0O00000000,00 300000.
00,000000000000000000000000000. 00000000000
nD00000000,p, ¢000, inv(e,(p—1)*(¢—1))000000,000 d0000000
000000!000,00000000000 (GCD)0000000,000000000000
000000000000.p,¢000000000000,p0000000000000000
00O00.00000 p,¢000000000000.
00: 00000000000000000000000000000 ShorJOO0OO0. 00000
00000000000000000,00000000000

4.6 UOOOOO

00000000 encrypt(M) OOOO SO RSAOOOOO. decrypt(C) O encrypt 0O 0O
ooooboooboob.ooboo.

[356] encrypt("OpenXM"); OO0 “OpenXM” 0O encrypt 0OOOO
0. 000 [4113338,3276482,4062967,0] O O
The input message = OpenXM g.00000000,decrypt 0000 on,
20336 Ooo00 “OpenXM” DOOOCOO.

Block_size = 2

25966
22605
0

[4113338,3276482,4062967,0]
[357] decrypt(@Q);

Block_size = 2

The input message to decrypt
= [4113338,3276482,4062967,0]
20336

25966

22605

0

[OpenxM, [79,112,101,110,88,77]1]

encrypt 100000000000 0000
000000000,00000000000
000,00000 mO mémodn 0000
000000, 20336, 25966, 22605 000
0000 mOO000O0. 000000000
OPPO p, QO ¢, EED ¢, DD 0 d(000)
ooooooooo.
0000000, p = 1231, ¢ = 4567, e =
65537, d = 3988493 000000 O.
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gbobooboboobooboooobooboooobOobod rsa.rrd00d.

47

PP=1231$
QQ=4567$
EE=65537$
DD=3988493%
/%

PP

1231, QQ=4567, N=PP*QQ, N’=(PP-1)*(QQ-1)
EE = 65537, (gcd(EE, N’) = 1),
DD = 3988493, ( DD*EE = 1 mod N’).
(These values are taken from the exposition on RSA at
http://www8.big.or. jp/%7E000/CyberSyndrome/rsa/index.html)
(EE,N) is the public key.
DD is the private key. PP, QQ, N’ should be confidential
*/

\_

def naive_encode(S,P,N) {
/* returns S°P mod N */
R=1;
for (I=0; I<P; I++) {
R = (RxS) % N;
}

return(R) ;

AN

def encode(X,A,N) {
R=1; P =X
while (A != 0) {
if (A% 2) {
R = R*P ¥, N;

P*P % N;
idiv(A,2);

=
1]

}

return(R) ;

AN
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def encrypt(M) {

extern EE,PP,QQ;
E = EE; N= PPxQQ;
Block_size = deval(log(N))/deval(log(256));

Block_size = pari(floor,Block_size);

print("Block_size = ",0); print(Block_size);
print("The input message = ",0); print(M);
M = strtoascii(M);
L = length(M);
/* Padding by 0 */
M = append(M,
vtol (newvect ((idiv(L,Block_size)+1)*Block_size-L)));
L = length(M);
c=1>01; 8=0;

for (I=1; I<=L; I++) {
S = S*256+M[I-1];
if (I % Block_size == 0) {
print(S);
S = encode(S,E,N);
C = append(C, [S]);
S =0;

}
pI‘iIlt ( non ) ;

return(C);

~
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def decrypt(M) {
extern DD, PP, QQ;
D = DD; N = PP+QQ;
Block_size = deval(log(N))/deval(log(256));

Block_size = pari(floor,Block_size);

print("Block_size = ",0); print(Block_size);
print("The input message to decrypt = ",0); print(M);
L = length(M);

c=11;
for (I=0; I<L; I++) {
S = encode(M[I],D,N);
print(8);
ct=1[1;
for (J=0; J<Block_size; J++) {
S0 = S % 256;
S = idiv(S,256);
if (80 !'= 0) {
C1 = append([S0],C1);

C = append(C,C1);
}
print (" ");
return([asciitostr(C),C]);
}
end$

\ J
encode(X,A,N) O, X*modN OO00O0O0OO000OO. native_encode(X,A,N) 0OO0OO0ODOOO
00o000o0ooooOo. 000000 ooooooooooo,000o0oooooooon
00000000.A020000000000000, encode(X,A,N) D0O0. 000ODOOO
ooooo.
AO020000

ZaiQi, (a; =0o0rl)

= ] #*

i:a;#0
0000, encode(X,A,N) OO, A A2 A% ... 0 NOOODOOOOOOOOOOOOO POOOO
go.ood,20000o0000

gbooobooaoo,

X modN =[] A2 mod N
i:a;7#0

goooogoo.
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encrypt 00, 00000000000000000000000,00MO00000. Block size
0bs00000,00,
M[0]256° " + M[1]256° 2 + - - - 4+ M[b — 1]256°
000 sO000,00s0000,8fmodN00000.0000000000000000
decrypt 0 encrypt 0000000000000 00000
000000000,RSAD000DCO0D0OOOO0DND (ne) 000000 d0000000
000. 0000000 rsa~keygen.rr 0, 000000000,00 EE,DDOOOCOOO0.

\

def rsa_keygen(Seed) {
extern PP,QQ,EE,DD;
random(Seed) ;
do {
P = pari(nextprime,Seed);
Seed = Seed+P;
Q = pari(nextprime,Seed);
PP = P;
QQ = Q;
Phi = (P-1)*(Q-1);
E = 65537;
Seed = Seed+(random()*Q % Seed);
} while (igcd(E,Phi) != 1);
EE = E;
DD =inv(EE,Phi);
print ("Your public key (E,N) is ",0); print([EE,PP*QQ]);
print("Your private key D is ",0); print(DD);
return([PP,QQ,EE,DD]);
}
end$

)

0000, 2128 = 340282366920938463463374607431768211456 0000000000 20000

O,RSAO000,000 0000000.00,0000000000000000000000
0000000000000000000.

[355] load("rsa.rr")$

[356] load("rsa-keygen.rr")$

[359] rsa_keygen(27128);

Your public key (E,N) is [65537,
231584178474632390847141970017375815766769948276287236111932473531249232711409]
Your private key D is
199618869130574460096524055544983401871048910913019363885753831841685099272061

[340282366920938463463374607431768211507,
680564733841876926926749214863536422987,

65537,
199618869130574460096524055544983401871048910913019363885753831841685099272061]
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[360] encrypt("Risa/Asir");

Block_size = 32

The input message = Risa/Asir
37275968846550884446911143691807691583636835905440208377035441136500935229440

[146634940900113296504342777649966848592634201106623057430078652022991264082696]
[361] decrypt (©Q);

Block_size = 32

The input message to decrypt =
[146634940900113296504342777649966848592634201106623057430078652022991264082696]
37275968846550884446911143691807691583636835905440208377035441136500935229440

[Risa/Asir, [82,105,115,97,47,65,115,105,114]]

000000000 (n,e) 000000 dODO0OOOOO,RSAOO0O0OOOOOOOOOO
uboobooboboobooo. cooo,p—-1,¢—-1000000000000O00O0O0,00A0
000 nO000OO0O0O0O0OUOOOO0OOO0O. D0O0O0O0OUOO (pq) UUODDOOODUDDOOOOOODO
0000000000 0000. 0000 rsakeygen DO0O0OO0O0O0O0O0O0O0OO0OOOOOOO
oooooooooo.obo,0oobo0oboooboo,oooooboobboooooboogoo.

Risa/Asir 0, 000000000000O00O0OOOOOOOO,000000000,0000
000000000000 000000000O00000000O0000O00. Risa/AsirO0O0O0O
ooooo,0b0boo0oobooobooboo0obboo 1obo0booooo0ooobooooboooboOoon
ooooooo.

OO 12 000000000,0000000000000,RSAOOOCOODO. 1bytedOOO
googobooboobooboobo.oboooboboo.

00 13 000 (e,n) = (66649, 2469135802587530864198947) D0 0 0, 00 encrypt O, 000
oooooooo,

[534331413430079382527551, 486218671433135535521840]
000.000000000000¢7

4.7 OQOO0OOooOoOoOoOood

ooooooo

4.8 Risa/Asir 0 Windows 00000

goooooo






oo

[1] Risa/Asir 000 (DO0O Free Book O0O)

53
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050 Macaulay2

oo
Macaulay2 000000 D-0000D00OO0OO0O0O0O0O0O0ODOOOO0OOOOODOOOOOOO
gooo.

5.1 Macaulay2 000 O

OO0 Macaulya2 00000000 OO0O0O0DOOOODOO.
Macaulay OO0 O0O0D0O0OO0DOO,O00000000C000OOO0O0OOOOO. 0O0DOOOOO
ooooooobooooooboo.

019 +,-,%,/,~00000000,000,000,00,00.0000,
2% (3+5°4)
000000 23+54)000000000.

020 00000000000000000000.00DO00O00O0O.

\
i3 : R = QQ[t,x,y,z]
o3 = R
03 : PolynomialRing

/

OO0 R : PolynomialRing 0O RO PolynomialRing JOOOOOOOODOOOOOOOO.R
SUO00000 RO PolynomialRing 00O OO0O0O0O0. OO0O0O00 Macaulay 200 OO0 o
OooooooooooOoooooooOooO. rROOOOOOOOO0O0, describe(R) OOO
describe ROOOOOOOO.

OO0 Macaulay 200,00 & O0000,0 : 000000000 OCOOOOO,0000
ooooooooboooooooooon.
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0O 50 Macaulay2

~
/,16 : f=x-t"2
2
06 -t +x
o6 : R
i7 : g=y-t~3
3
o7 = -t +y
o7 : R
i8 : h=z-t"4
4
o8 -t +z
o8 : R
i9 : f+g
3 2
09=-t -t +x+y
09 : R
\_ J
ogoooo ..

021 0000000000000 f,g,h00¢t0O000O0O00ODODO. DOO¢tODOOODO 10,
gboooboob ooboboobbobooboobooboobboboo.
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4 M

il12 : R = QQ['C,X,Y:Z, Welghts => {{1’030’0}}]

0l2 = R

012 : PolynomialRing

i13 : f=x-t"2; g=y-t~3; h=z-t"4;

i16 : curve=ideal(f,g,h)

2 3 4
016 = ideal (-t +x, -t +y, -t + 2)

016 : Ideal of R

i17 : gb(curve)

0l7 = | y2-xz x2-z tz-xy ty-x2 tx-y t2-x |

017 : GroebnerBasis

N J
ooooooboooooon

y:—xza® — 2

g+«ooboboooboobooobo,boobgoobooboo ...boobooo

OO0 Macaulay2 OO0 DOOO0OOO0OODOOOOOOOODOOOOODOOODOOOOODOODO
go.

02200 curve I (Krull) DOOOOODO.

i18 : dim curve
018 1

i19 : degree curve
0l9 = 4

00 00 dim curve U dim(curve) OOODOOOO. OO OO degree curve [ degree(curve)
ooooooo.

023 0d000o00ooooooboobooboobobobobobobob.oooobobobo
gbobooboobooobooboooobooboooooboooboobon.
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s N

i20 : s=QQ[a,b,c,d];

i21 : I=monomialldeal(a”2,a*b,b”3,a*c);

021 : MonomialIldeal of S

i22 : res I

1 4 4 1
022 =S <——- S K-8 K-8 <=0
0 1 2 3 4

022 : ChainComplex
N J
00 1,4,4,10 betti OO OO . betti 0O OO0OOOODOO.. OODOOOO0O

5.2 Macaulay2 000 [0

5.2.1 Macaulay2 OO0 0O0000O0OO

OpenXM/src/Macaulay2 000 DO.

5.2.2 Macaulay2 D0 0O0O0OOO0OOOOOODOOOO

OO0000 522000000 500000.00 500000000 1,2340000,005
oooooo (4,1,1,1,0) 0000000000000 O0O0O0OOO.

Y,
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il : load "LLL.m2";

i2 : load "triangulate.m2";

--loaded triangulate.m2

i3 : A={{1,1,1,1,1},{0,2,0,3,1},{0,0,2,2,1}}

03 = {{1) 1, 1’ 1’ 1}’ {o’ 2) O’ 3, 1}7 {O) O, 2’ 2’ 1}}
o3 : List

i4 : I = toricIldeal A

2 32 4
04 = ideal (b*c - e , ad - bxe )

04 : Ideal of R

\_ J
00 a,b,c,d,e 000000 1,23450000000. 0 ROODO toricldeal DO OO OO
oooooo.
000000 M.Stillman, B.Sturmfels, R.Thomas ?? OO0 O0O0OO0OD0OOOO affine toric O
oo0oooooooooooon.

a I

—-— M2 book page 181.
toBinomial = (b,R) -> (
top := 1_R; bottom := 1_R;
scan(#b, i -> if b_i > O then top = top * R_i~(b_1i)
else if b_i < O then bottom = bottom * R_i~(-b_1i));
top - bottom);

toricIdeal = (A) -> (
n := #(A_0);
R = QQ[vars(0..n-1), Degrees=>transpose A, MonomialSize=>16];
B := transpose LLL syz matrix A;
J := ideal apply(entries B, b-> toBinomial(b,R));
scan(gens ring J, f -> J = saturate(J,f));
J);

\_ /

uboaoboooooooobooan.
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i6 : R2=QQ[a,b,c,d,e,Weights=>{{1,1,1,1,0}}] A
06 = R2
o6 : PolynomialRing
i10 : F=map(R2,R)
010 = map(R2,R,{a, b, c, d, e})
010 : RingMap R2 <--- R
i1l : I2 = F(D - I20000000000 ringODOOOODO
2 32 4
01l = ideal (b*c - e , ad - bxe )
011l : Ideal of R2
i17 : M=monomialIldeal I2 -- MO I20 initial ideal O .
32
017 = monomialldeal (b*c, a d )
017 : MonomialIldeal of R2
i19 : MM=radical M -- MM O M O radical
019 = monomialIldeal (b*c, axd)
019 : MonomialIldeal of R2
i20 : primaryDecomposition MM --MM OO0 0O0O00O0OO0OO0OOOOOOOOO
020 = {monomialldeal (a, b), monomialldeal (a, c), monomialldeal (b, d),
monomialIldeal (c, d)}
\\020 : List )

00, (a,b) 00000 (¢,dye), 00000000000 (3,4,5),
00, (a,c) 00000 (bde), 00000000000 (2,4,5),
00, (b,d) 00000 (a,c,e), 00000000000 (1,3,5),
00, (c,d) 00000 (a,be), 00000000000 (1,2,5)000. 00000000000
5220000000000000000000000000000.



53. DOO0DOODOOOOODOOO0ODbO0ODbOn 61

gbobooboboooo—g0oooog
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53 UUOboobbooooobobbbbooooon

Knoppix/Math 00 0000000000000 0OO0OO0O0OO0OO0OOOOOOOOO. Oooo
obooooobooooobon.

5.3.1 0000

0000 Qz,y,2] 0 0000 10,y 0000 5,20000 000000000O0OOOO
oo.
Macaulay2 O O

[ QQ[x,y,z,Weights==>{{10,5,0}}] ]

Singular 0 O
Risa/Asir 00O

[1153] Opt=[["v", [x,y,z]], ["order",[[x,10,y,5111];
[[v,[x,y,z]], [order,[[x,10,y,5111];
[1154] dp_gr_main([x"2+y~2+z"2-1,x*y*z-1,x*y+y*z+z*x-3] | option_list=0pt);

goooboboboooooooooooobobooooooooo, 000 booooooooooo
goooo.
Kan/sml 00O

[(x,y,2) ring_of_polynomials [[(x) 10 (y) 5 (z) 0]] weight_vector 0]

define_ring

5.3.2 mnormal form 00O

Macaulay2 00O % , Risa/Asir 00 truenf, Kan/sml 00 reduction , Singular OO ...
oooooooooo
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oo

[1] David Eisenbud, Daniel R.Grayson, Michael Stillman, Bernd Sturmfels O, Computations in
Algebraic Geometry with Macaulay 2, Springer, 2002.
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el UOUOUOOLOUOOOO

00,00
Knoppix/Math 00 0000000000000 0OO0O0OOOO0ODO0OOOODO.
Risa/Asir 0000 OO bfet, yang, dp_gromain 00000000, Macaulay2 O kan/sml 00O
goboooooobooooaa.
6.1 UO0OOUoogo
6.2 UU0O0OUOO0OUOOOOOOOOOOOO
6.3 o,-UO0O0OO

64 UO0OOODOOOOO
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070 Knoppix/Math, OpenXM[O 00
0O

oo
OpenXM ODOOOOCODOOOOOODOOOOCODOOODO. OpenXMOOOOOOODOOOOCODO
0000000000000 (OpenXM-RFC’s). OpenXM 0000000000000 OOOOOO
0000000000000 000000000,00000000000000. Knoppix/Math O
000 OpenXMOOOOOOOOOOOOO. Risa/Asir 00 0000000000000 OpenXM
ooo0oOo00oDOOo0o0oooOo0oOoooOoOoooboOoOonD, OpenXMUOOOOOOODODOOODDOO
gboooobo,boboooobooooboobobobooobooogn.

7.1 sshO0QO0O

200 Knoppix/Math 000000000 OpenXM OOOO0OOOOOOOOOODOOOO. O
0000 sshOOODOODOOOODO0ODODOOOODOODOOOOODO.

00000000 knoppix-main, 00000000 knoppix-2-go (knoppix 2 0)0000000O0
O . knoppix-main 00 knoppix-2-go 00 0000000000000 IPOOODOOOOODOOOO
OO0 (bHCPOOOOOOOOOOOD)00O0OO0OOO.IPODOOOOOOOODO ifconfigl
ooooooo (oo).

oooo IPOOO0O
OO0 1| knoppix-main | 192.168.1.1 |[IPODOOOO00ODOCOOODOCOOOOOD.
knoppix-2-go | 192.168.1.2

oo 2

OO0 000 knoppix OO0OOODODO abed30xyz, ssh D00 OO0O0OO abed30xyz O0OO.
oo 3

knoppix-main, knoppix-2-go 00 asir 000000000000 OODOODOODO.

a ™
knoppix-2-go OO OO .

1. {0000 | = [services| = |Start SSH server| 0 sshd 0000000. 000000

abcd30xyz 0 O O.

2. Shell 0O0O. mkdir ~/.ssh ; chmod 700 .ssh O0O0O00 sshO0O0O00O0OO0O0DOO
oooooog.

%
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4 . N
knoppix-main 00 0O0O.

1. Shell DO 0. ssh-keygen -t dsa O0000000O0O0O00000O0. abcd30xyz O
oo.

2. 0000 .ssh/iddsa O .ssh/idida.pub OJOOO0O0O. OO0OO0OOODOOOO
0O0O00O0. OO00 knoppix-2-go 000000 knoppix-main 0 O knoppix-2-go
O ssh 00000 OOO0OOO. OO0O0O Shell O, scp OODOOOOODODODO.
scp ~/.ssh/id_dsa.pub 192.168.1.2:.ssh/authorized_key DO OOOOOOO

OO0, abed30xyz OO O.
N /

ooooooooo0o0o0.whODODOOOOOOOOODOOOOOOODODODOOOOOD
gboooooboooboobooooooo.
oo0,00000b00oooboon.

4 N

knoppix-main 0 0 O .

ssh-agent bash

ssh-add
Ooooo0oooooo0OoO000 abed30xyz OODODO .

ssh 192.168.1.2

U0 knoppix-2-go DOOOODOO, ifconfig UOOODOOODO.
192.168.1.2 0000000, oK OOO.

Oooo0000d00 exit dOO0O0O.

0000 asir0 OpenXM OOOOOOODODOO.
4 N

knoppix-main 0 0 0O .

ssh-agent bash
ssh-add
000000000 D0O000D00 abed30xyz ODOOO.
export ASIRHOSTNAME="192.168.1.1"
asir 0 asir OOO.
ox_launch("192.168.1.2","/usr/local/OpenXM/1lib/asir","ox_asir");

/

00 192.168.1.2 O (knoppix-2-go 0) O asir 000000, 00000000O0. rpe (Remote
Procedure Call) 00O O0O00OODO.

7.2 0OOUO

P=ox_launch("192.168.1.2","/usr/local/OpenXM/1lib/asir","ox_asir");
ox_rpc_cmo(P,"fctr",x"100-1);
ox_pop_cmo (P) ;
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Fri A 12, 16:15 &=

" & honlications Actions & & & &

@ 25
- Juffers Tools TeX ‘Help

Sl {veibaling
Send {areent

- Kzerm
k-book . tex™ k-dist.tex k—dnod . tex™ k=intro.au k-kseg .tex k-prosper.tex”

Y
k-bok 2w
boast 2,008 s
Thic i¢ Risaffcin, Usrsior 30050738 (Kobe Distribution).
Copuright (C) 1884-2000, 211 rizhts reserved, FUIITEU LABORATORIES LIMITED.
Copuright 2000-2005, Risa/Asir -ommizters, hitg://uue,opena,org/,
GG 5.5 copurighe 18B3-200E, H-J. Buemm, A. J. [ewers, Yeros, SAL, HP.
; PARL 2,0,17, copyight 1080 1003, C, Batui, K, Belakas, D. Bernardi,
andd H, Alivier
Comieib i

Mozt 0 i 0T L 4 5000-2004, Operiéll.org connitters
(8] ox-la - OX[3; & E
Wrostirg r.airre
W 1'n an ex_asir, Ye-cien 20080726, el i—cloc . htm 1

#0' Got. DK_CCHHAND 3H_natacap
#1 Got, DK_DOHHAND 31_pop3+0

[ fron =t

+2 Got OX_TATA > data pashed
43 Go DX CCHHAND SH_selathuay
B e

#4 Lot UCLULAL_UBJEL]_A3IK ~> daba pushed

5 Cot. OX_LOCAL_OBJECT_(SIR > data pushed DAEOR
45 Cot DX_DATA —> data pushed TS LABORATORIES LIMITED,
47 Cot UXIATA > Jata pushed i, Dpenn .org/ .
%8 Got DX_COMHAND 3H_exesuteFunction i, W, SGI, HF,
rop at labos, 0. Bernardi,
pop at 1
b 0-2004, Operill.org connitters
49 Fnt MECTHHONN SH_prpaeri alizedl nealfhjast. &
o L nele—doc.htnl
1}
(E ] B 4 . >
1277] on_rpc(P, "fotn”, 1™ 100-1);
0 xz X
[1273] ox_pop_localdP);
L1130, L AT, L 11, 240 AL, L5030 2ot L, 1, L4003 2ot L, 1], L3¢ BB dmx 241, 1], L7200 154710554, x 5104
L, 4], [=740-+"30-x"20-%"10+1, 1]]
[l |

gboooboooboobooobooobo,booboobooobobn.

ox_execute_string(P,"system(\"sudo halt\");");

0000, knoppix-2-go O shutdown 000 000,000000000007
oooog.
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080 Prosper U, DO0OOOMO

oo
o000 pPDFOOODOOOOOOOOOODDO.

8.1 Prosper H0OODDOOOOO. overlay DO OO0
8.2 Prosper H0OUOUOOOOOO. overlay DO OO0

8.3 Pstrick DO QOO0
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ToConsider:
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